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L. Answer any five : : 53

@

(i)

(iii)

)

Two economies namely'Econany A and Economy B
can produce both the goods X and Y. However
economy ‘A is specialized in production of good X and
economy B is specialized in production of good Y. Draw
and explaiﬁ the{production i)ossibility curves for both

the economies.

Lalita consumes only two commodity X and Y. The price
of X has increased but it is observed that Lalita is
consuming the same amount of good X. Explain this

condition using income effect and substitution effect.

Do you agree that price controls often hurts those for
whom these were meant to help ? Discuss this in view

of rent cqntrol.

Does a firm operating under perfectly competitive market

always exit whenever it incurs losses in the short-run ?
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Ch 3l 2435

In a city there is only one company providing
telecommunication service. The company is asked to set
its price equal to its marginal cost. What problems will
the company face in doing .so ?

Does the doubli.ng of wage rate cause demand for

labour to be half ? Discuss.
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What is the role of government in a modern

economy ? : ' i 5

(i)

| (iii)

@
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The demand and supply of labour in a village is given
by :
D, = 210 3W and §; = 2W.
Calculate the fninimum wage (W) fixed by the
government which caﬁses an unemployment of 40. 5

Due to iﬁcrease in income of residents of a city the
demand for car rises. What happens to producer surplus
in the market for car.? What happens to producer
surplus in the market for tyres ? 7 Use diagrams to :
explain. ’ ; 5
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Should. a bumper- crop due to favourable weather
condition be a cause of concern for the farmers ?
Explain. ~ i 6
Government imposes a tax on sale of foods served in
a re.staurant. Can the government ensure that the entire

burden of this tax will be borne by the restaurant

owner ? Discuss. B 5

Studies indicate that the price elasticity of demand for

~milk in a particular village is —1.2. If a litre of milk

currently priced at Rs. 30 and the government wants

to increase milk consumptioﬁ.by 20%, by how much

should it decrease the price of milk ? 4
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Explain using income and substitution effects, why Giffen

goods have upward sloping demand curve ? 7

Use ihdifference curves to show how an individual .
decides to allocate her time between work and leisure.
Will she necessarily work more if the wage rate

rises ? ‘ s 4
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A consumer consumes two goods bread and rice.

Measuring rice on Y-éxis, the MRS of rice for bread

is 0.5 at equilibrium. The market price of rice is Rs 20.
(@) What is the market price of bread ?

(b) Derive the equation of budget line. 22
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In the long run there are five alternative _technologies
to produce a commodity. Explain the derivation of long
run ATC curve. . 5
The long run supply .curve of a perfectl)" compefitive
industry is more elastic in the long run than the short
run. Do you agree 2 Give reason to your answer. 4
A farmer is in equilibriﬁm when he produces 100 kg
of pofato. The; totél cost function is given as
C = 1000 + 10 Q + 0.05 Q2. The price of potato‘is
Rs. 20 per kg in the market.
(a) Calculate MC and AVC, AFC and AC of the

producing potato at eqﬁilibdmn level.

®) Calculate total profits of the farmer. 42
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Explain the dead weight loss due to monopoly with the

help of a diagram. Does perfect price discrimination by

a monopolist increase total welfare in the market ?

Explain. 4
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A monopolist produces a commodity X at a constant
average cost of Rs. 20 and faces the

following

demand function :
X =200 =5, P

What is the equilibriun; outpht and price and profit
of this monopolist ? 322
To produce socially.,efﬁci‘ent quaﬁﬁty in monopoly, what
should be: done : per unit tax be levied or per unit
subsidy be given ? 4
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In a perfectly competitive markets, explain why the value

-of marginal product of labour curve is the demand curve

for labour. g : 5

According to new labour laws, firms are now required
to give workers health insurance. How this law will affect
employment and wages considering no change in labour

supply ? : . 4
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(iij)  Suppose labour is the only input used by a competitive

firm whose production function is as follows :

Units of labour Total Product

Q 0
1 8
2 15
3 21
4 25
5 28
6 s %

(@) Each unit of output sells for ¥ 5, calculate the

value of marginal product of each worker.

() Compute the demand schedule showing the number
of workers hired for wages of"¥ 15, 20 and 30.
(¢) What happens to this demand curve if the price

of output rises from ¥. 5 to ¥ 10 per unit. 6
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